BK ESS-I6v

Par hcp 2021-12-07

Partavling, 5 bord, 9 par. Antal brickor: 24. Medel: 71.9. Frirond (*) ger egen procent.

Plac Par Poéng % Namn MID Klubb
1 3 92.0 63.86 Bo Nilsson - Kristina Andersson 92555 85739 BK ESS-lov
2 4 83.8 58.17 Lars-Goran Wulff - Leif Nilsson 92548 92537 BK ESS-lov
3 10 74.0 51.38 Britt Frank - Roger Johansson 41794 56451 BK ESS-lov
4 8 73.7 51.20 Mats Krook - Bert Holmqvist 68803 68802 BK ESS-lov
5 5 72.4 50.26 Kenth Paulsson - Lisbeth Paulsson 54538 54539 BK ESS-lov
6 2 71.8 49.89 Rolf Andersson - Carl-Gustav Méncke 61853 32634 BK ESS-lov
7 7 66.0 45.80 Kjell Kristiansson - Tony Hjerpe 63371 40273 BK ESS-lov
8 1 64.0 44.43 Bo Martensson - Anders Rosendahl 80073 28550 BK ESS-lov
9 6 49.2 34.20 Anders Masén - Elisabeth Masen 53335 59473 BK ESS-lov
1 & K52 Basta kontrakt 2 498532 Basta kontrakt 3 4 Kn6 Basta kontrakt
Nord v 3843 3NT N =400 Ost v9 6NT O =-990 Syd v EKn73 4v S =420
Ingen + Knog7 NS ¢+ Kn754 ov + Kn10932
#984 & ¢ v & NT #DKn2 & ¢ v & NT *42 & ¢ v & NT
4963 #DKn1087 N 10108 6 9 4EK6 «D N11241 442 4109875 N5 7 107 6
vKn92 vD1076 S 10108 6 9 vEK8  vKnl1065 S11241 v 642 v8 S5 7 107 6
¢ K653 ¢ 42 032562 ¢+ EKD3 ¢ 10982 O 1212119 12 ¢ 654 ¢ EK87 07536 4
K65 D10 V22562 #K73  #E1085 V 1212119 12 #KDKn86 #E103 V7536414
aE4 4 Knl074 4 EKD3
v EK5 vD7432 v KD1095
¢+ ED10 +6 +D
#EKN732 #964 #975
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
3 6 3NS+1 ¢3 430 6.0 0.0 3 6 4v0-1 +6 50 5.0 1.0 3 6 4vS+2 42 480 6.0 0.0
10 5 3NS= 46 400 40 20 7 8 6NV-1 a2 50 5.0 1.0 2 4 4vS+1 4 450 40 20
2 4 3NS-1 +5 -50 1.0 5.0 10 5 3NV+2 45 -460 2.0 4.0 7 8 4v S= K 420 1.0 5.0
7 8 3NN-1 4Q -50 1.0 5.0 2 4 6NV= 49 -990 0.0 6.0 10 5 4vS= a4 420 1.0 50
-1 3.1 -1 3.1 -1 3.1
4  KDKn9862 Basta kontrakt 5 48 Basta kontrakt 6 ~E10 Basta kontrakt
Vast vD108 5& V D -1 200 Nord vED10983 34 O =-140 Ost vE 34 O =-140
Alla + K3 NS + 109 ov + D96532
«5 & ¢ v & NT #DKn75 & ¢ v & NT #9854 & ¢ v & NT
410 4 E73 N 3 6 5 105 «KD3 4« E10954 N7 49 34 4 DKn82 4K976 N57 435
v 96543 vKn7 S 3 6 5 105 v 62 vKn74 S749 36 v 9542 v D863 S57 445
¢ Kn2 ¢ E1095 O 106 8 3 7 ¢ ED872 ¢K5 049497 ¢- ¢+ EKn87 0859 98
#EDKN92 #K874 VvV 106 8 3 7 *E94 #1063 V59497 #EKD32 #10 V859938
454 4 Kn762 4543
v EK2 v K5 v KKn107
+ D8764 + Kn643 + K104
#1063 *K82 *Kn76
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
3 5 44 N-= vJ 620 6.0 0.0 4 7 44 O-2 vK 100 6.0 0.0 3 5 4v V-2 «A 200 6.0 0.0
4 7 24 N+2 v 170 2.0 4.0 3 5 3¢V+l a8 -130 4.0 2.0 10 6 3¢ N= T 110 40 20
8 1 24 N+2 vJ 170 2.0 40 10 6 24 O+1 vK -140 2.0 4.0 8 1 2v0O= *4 -110 2.0 4.0
10 6 24 N+2 v 170 20 4.0 8 1 340+1 ¢3 -170 0.0 6.0 4 7 34 0+2 &7 -200 0.0 6.0
- 2 2.9 - 2 2.9 - 2 2.9
7 a- Basta kontrakt 8 498 Basta kontrakt 9 10 Basta kontrakt
Syd v 95432 4v S =620 Vast v EKKn86 3v N =140 Nord v Kn985 34 O =-140
Alla + K982 Ingen 4962 ov + Kn876
#ED64 & ¢ v & NT #E102 & ¢ v & NT #KKn97 & ¢ v & NT
4K1085 4DKn9764 N 118 105 8 «Kn4 4 D1073 N 4 109 8 8 4 KDKN76 4432 N7 46 46
vDKn106 ¢8 S 117 105 8 vD1043 v52 S 4 109 8 8 vD vE10643 S 856 46
¢ E105 ¢+ D643 025374 ¢ EKn5 ¢ K10 073355 ¢ ED102 ¢543 0577 96
#Kn5 *72 V252374 D875 #KKn643 V73355 #ED5 £82 V577296
4 E32 & EK652 « E985
v EK7 v 97 v K72
¢+ Kn7 + D8743 + K9
#K10983 9 10643
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr ut Res  Poang
4 6 54S+1 ¢A 620 6.0 0.0 10 7 44 0-3 «K 150 6.0 0.0 4 6 3NV-2 &9 200 6.0 0.0
10 7 2vS+2 ¢A 170 40 20 5 8 24 S= a4 110 40 20 5 8 1laV+2 v -140 3.0 3.0
1 2 24S+3 +¢5 150 2.0 4.0 4 6 INN-1 3 -50 2.0 4.0 10 7 24 V+1 &7 -140 3.0 3.0
5 8 3NS-1 vQ -100 0.0 6.0 1 2 2NN-2 &3 -100 0.0 6.0 1 2 44 V+1l &K -650 0.0 6.0
- 3 3.9 - 3 3.9 - 3 3.9
10 454 Bésta kontrakt 11 475 Bésta kontrakt 12 & Kn654 Bésta kontrakt
Ost vKD5 3v S =140 Syd vK7 44 S =420 Vast v K105 ANT N =630
Alla + KD3 Ingen 48732 NS + EKD6
#D9763 & ¢ v & NT #EK542 & ¢ v & NT %108 & ¢ v & NT
«D2 4« EKn98 N6 39675 484 4 E9 N 7 105 107 4 K10982 &7 N 9 9 108 10
v 107 vE8 S 63965 vEDKn954 v 10632 S 7 105 107 v 63 v 8742 S 9 9 108 10
¢ EKn1052 ¢ 9874 079467 +Kn + D106 06 3833 +Kn753  ¢1082 033353
&#Kn1052 #EK8 V79467 #DKn63 10987 V62723 #Kn5 »EK432 V33353
4 K10763 4 KDKn10632 «ED3
v Kn96432 v8 v EDKn9
+6 + EK954 +94
*4 »- «D976
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
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5 7 2vS+1 42 140 50 1.0 10 8 44 S= ¢J 420 6.0 0.0 10 8 3NS+2 «T 660 6.0 0.0
10 8 2vS+1 v7 140 50 1.0 2 3 4vDV-2 &7 300 4.0 20 2 3 3NS+1 48 630 4.0 2.0
2 3 2NO-1 v3 100 20 40 5 7 54S-1 vA -50 1.0 5.0 5 7 3NS= «8 600 2.0 4.0
6 1 3¢0= *4 -110 0.0 6.0 6 1 44S-1 *J -50 1.0 5.0 6 1 3NS-1 T -100 0.0 6.0
- 4 35 - 4 35 - 4 35
13 4 Kn8 Basta kontrakt 14 4 E865 Basta kontrakt 15 4 D95 Basta kontrakt
Nord v E532 24 O =-110 Ost v42 2NT O =-120 Syd vE 64 VD -4 800
Alla + D8764 Ingen ¢ E54 NS ¢ KD106
»64 & ¢ v & NT #9874 % ¢ v & NT #D9842 & ¢ v & NT
4976  4K10432 N7 7756 & Kn7 & K432 N55465 « EK87642 #Knl0 N 5 12114 8
vD987 vK6 S77756 v KKn3 vD1097 S55465 v 86 v Kn542 S 5 12114 8
¢ E532 ¢ K9 0666 87 ¢ KKn2 ¢ D873 087 86 8 ¢ Kn +54 080284
*73 #ED95 V65686 #KD1032 &5 V87867 #E106 #KKn753 V80284
«ED5 D109 43
v Kn104 v E865 v KD10973
+ Knl0 + 1096 ¢ E98732
#KKn1082 #EKn6 *-
Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang Par Kontr Ut Res  Poéang
7 2 340-3 ¢ 300 6.0 0.0 3 4 2+V-1 v2 50 50 1.0 1 10 5¢ S+1 4K 620 6.0 0.0
1 10 24 O-2 ¢J 200 30 30 7 2 24V-1 v2 50 50 1.0 3 4 4¢ N+1 &) 150 4.0 2.0
3 4 340-2 ¢ 200 30 30 1 10 2+V= v4 90 2.0 4.0 7 2 24V-1 vA 50 20 40
6 8 240= *J -110 0.0 6.0 6 8 1v O+l 49 -110 0.0 6.0 6 8 34V+l YA -170 0.0 6.0
- 5 2.9 - 5 2.9 - 5 2.9
16 #1098 Basta kontrakt 17 49 Basta kontrakt 18 «E7432 Basta kontrakt
Vast v ED854 3e V =-140 Nord vE72 64 O =-980 Ost v D754 6% O =-920
ov 41053 Ingen + D9653 NS *4
£94 & ¢ v & NT £10974 & ¢ v & NT #Kn106 & ¢ v o NT
« EKD753 4Kn64 N8 6 846 «DKn10853 «E7 N23 712 & KKn10965 o - NO1542
v K102 v Kn7 S 86846 v- v K865 S$23712 v K8 v Kn62 S016 43
¢ D74 ¢ KKn86 057397 + EK102 ¢ 874 O 11106 129 ¢ DKn3 ¢ EK987 O 12117 8 10
*2 *K1087 V57397 *K86 #EDKnN2 V 11106 129 #EK #D9853 VvV 12117 8 10
a2 & K642 «D8
v 963 v DKn10943 vE1093
¢ E92 ¢+ Kn ¢ 10652
#EDKnN653 53 *742
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
2 10 44 V-1 «9 100 50 1.0 8 3 34V+3 ©vA -230 6.0 0.0 7 1 3&V-1 +4 50 6.0 0.0
4 5 44 V-1 «9 100 50 1.0 2 10 44 V+1 YA -450 4.0 20 4 5 3aV= *4 -140 40 20
8 3 24V+l &9 -140 2.0 4.0 4 5 44 V42 YA -480 1.0 5.0 2 10 5¢ O= v3 -400 1.0 5.0
7 1 4e V= *4 -620 0.0 6.0 7 1 4eV+2 YA -480 1.0 5.0 8 3 5¢0= vA -400 1.0 5.0
- 6 16 - 6 16 - 6 1.6
19 493 Bésta kontrakt 20 & K762 Bésta kontrakt 21 s K Bésta kontrakt
Syd v 842 ANT V =-630 Vast v42 3v V =-140 Nord v EKKn9 3NT O =-400
ov ¢ E9763 Alla ¢ KD53 NS ¢ EKn52
#KD7 & ¢ v &N #EKn8 & ¢ v &N #10953 & ¢ v & NT
«Kn74  4ED108 N44233 4DKn104 o- N7 6374 «E3 « D9875 N3 476 3
vEK975 vD3 S$44233 v76 vEKD10983 S 7 6 3 7 4 v73 v D52 S$3466 3
+ D85 ¢ KKn10 O 9 8 101010 ¢ E10742 +96 067 968 ¢D1097 K84 099679
*106 #EKn85 vV 9 8 101010 *72 #K654 V6789°¢6 8 #EKNn764 #KD V996729
& K652 « E9853 & Kn10642
v Kn106 v Kn5 v 10864
¢ 42 + Kn8 ¢ 63
#9432 «D1093 »82
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr Ut Res  Poang
3 10 INV+1 3 -120 6.0 0.0 5 6 5v0-2 ¢J 200 6.0 0.0 5 6 440-3 #8 150 6.0 0.0
8 2 2NO+1 42 -150 4.0 20 8 2 4v0-1 +A 100 4.0 20 1 4 3NV-1 ¢5 50 4.0 2.0
5 6 3NO+1 &9 -630 2.0 4.0 3 10 3vO= *J -140 2.0 4.0 8 2 2¢V= oK 90 2.0 4.0
1 4 3NO+2 a5 -660 0.0 6.0 1 4 34S-2 v7 -200 0.0 6.0 3 10 3NV+1 ¢2 -430 0.0 6.0
-7 2.7 -7 2.7 -7 2.7
22 4 EKn7 Basta kontrakt 23 4 Kn875 Basta kontrakt 24 & Kn8542 Basta kontrakt
Ost v Kn76 3NTN =400 Syd v K876 4v V =-620 Vast v62 3NTV =-400
ov + Kn42 Alla + K862 Ingen + EK2
+Kn854 & ¢ v aN *Kn & ¢ v aN *432 & ¢ v & NT
4 K2 4D109654 N 9 6 8 5 9 « 1093 « EK2 N3 7 3654 ~E6 «D1073 N4 4554
v 8542 vE10 S$96855 vEDKn92 v104 S37354 v Kn4 v KD87 S44554
¢ 107653 ¢ EK 046 484 ¢ Knl0 ¢ E75 O 106 107 9 ¢ DKn863 ¢ 974 089889
#106 *732 V46484 #532 #EKD64 VvV 106 108 9 *EK86 «D7 V89889
« 83 « D64 « K9
v KD93 v53 v E10953
+ D98 ¢ D943 ¢ 105
#EKD9 10987 #Kn1095
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
6 7 INS+1 +3 120 6.0 0.0 6 7 3NO= *4 -600 6.0 0.0 4 10 INO+2 &J -150 6.0 0.0
1 3 3&N-= vA 110 3.0 3.0 1 3 4v0+1 #8 -650 4.0 2.0 2 5 2NO+2 vT -180 4.0 20
2 5 2#S+1 &K 110 3.0 3.0 4 10 3NO+2 &T -660 2.0 4.0 6 7 3NO= v3 -400 2.0 4.0
4 10 3#S-1 oK -50 0.0 6.0 2 5 3NO+3 T -690 0.0 6.0 1 3 3NV+1l 42 -430 0.0 6.0
- 8 3.0 - 8 3.0 - 8 3.0
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